
1

2𝜋
∫ 𝑑𝑘 𝑒𝑖𝑘(𝑥−𝑥′)−𝛼|𝑘|

∞

−∞

=
1

2𝜋
∫ 𝑑𝑘 𝑒𝑖𝑘(𝑥−𝑥′)+𝛼𝑘

0

−∞

+
1

2𝜋
∫ 𝑑𝑘 𝑒𝑖𝑘(𝑥−𝑥′)−𝛼𝑘

∞

0

 

a) 

let 𝑢 = 𝑖𝑘(𝑥 + 𝛼 − 𝑥′) then 𝑑𝑢 = 𝑖(𝑥 + 𝛼 − 𝑥′)𝑑𝑘; 𝑠𝑜 𝑑𝑘 =
1

𝑖(𝑥+𝛼−𝑥′)
𝑑𝑢 

1

2𝜋
∫ 𝑑𝑘 𝑒𝑖𝑘(𝑥+𝛼−𝑥′)

0

−∞

=
1

2𝜋

1

𝑖(𝑥 + 𝛼 − 𝑥′)
∫ 𝑑𝑢 𝑒𝑢 =

0

−∞

1

2𝜋

𝑒𝑖𝑘(𝑥+𝛼−𝑥′)

𝑖(𝑥 + 𝛼 − 𝑥′)
]

−∞

0

 

=
1

2𝜋

𝑒0

𝑖(𝑥 + 𝛼 − 𝑥′)
−

1

2𝜋

𝑒−∞

𝑖(𝑥 + 𝛼 − 𝑥′)
=

1

2𝜋

1

𝑖(𝑥 + 𝛼 − 𝑥′)
 

b) 

let 𝑢 = 𝑖𝑘(𝑥 − 𝛼 − 𝑥′) then 𝑑𝑢 = 𝑖(𝑥 − 𝛼 − 𝑥′)𝑑𝑘; 𝑠𝑜 𝑑𝑘 =
1

𝑖(𝑥−𝛼−𝑥′)
𝑑𝑢 

1

2𝜋
∫ 𝑑𝑘 𝑒𝑖𝑘(𝑥−𝛼−𝑥′)

∞

0

=
1

2𝜋

1

𝑖(𝑥 − 𝛼 − 𝑥′)
∫ 𝑑𝑢 𝑒𝑢 =

∞

0

1

2𝜋

𝑒−𝑖𝑘(−𝑥+𝛼+𝑥′)

𝑖(𝑥 − 𝛼 − 𝑥′)
]

0

∞

 

=
1

2𝜋

𝑒−∞

𝑖(𝑥 − 𝛼 − 𝑥′)
−

1

2𝜋

𝑒0

𝑖(𝑥 − 𝛼 − 𝑥′)
=

1

2𝜋

−1

𝑖(𝑥 − 𝛼 − 𝑥′)
 

c) adding a) + b) we get 

𝑥−𝛼−𝑥′−𝑥−𝛼+𝑥′

2𝜋𝑖(𝑥+𝛼−𝑥′)(𝑥−𝛼−𝑥′)
=

−𝛼

𝑖𝜋(𝑥+𝛼−𝑥′)(𝑥−𝛼−𝑥′)
 or 

𝑖𝛼

𝜋(𝑥+𝛼−𝑥′)(𝑥−𝛼−𝑥′)
 

 

 


